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GENERAL INSTRUCTION TO THE EXAMINEES:
1. GREATefT FAYH 31U UeH UF WR AMIG SIarid: ford |
Candidate must write first his/her Roll No. on the question paper

compulsorily.
2. 991 geF o arfeard ® |

All the questions are compulasory.

3. UUd U BT SR a1 T3 IRk R # 8 ford |
Write the answer to each question in the given answer book only.
4. 59 9ol # oaIRe® WS & 9 T & SR YD A & ford |
For gquestions having more than one part the answers to those parts are to be

written together in continuity.
5. U U & fRwdl WR IS HURRY H ¥l JbR @l Ffe/ R/ fRemv 89 )
fE= AT & U BT el A |

If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.
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SECTION-A

ye 1— Fafoled uel & SR &1 98 ee 799 w- SR gRasr # fofag |

(i) f=7=1 % 9 DT I NEH A a1t Shg 27

(1) dgem (@) W (@) gl (3) TR 1
Which of the following organism shows parthenogenesis.
A) Earthworm B) Sponge
C) Honeybee D) Ascaris
(ii) vo Ursfie gRuad Sgadrel Yorey H fhd- d=ad T PIRMGN IuRed B8Rl 57
(@) 7,7 (@) 8.8 (@87 (1) 78 1
How many nucleus and cells are present in a typical mature angiosperm endosperm.
(A) 7,7 B) 8,8
(C) 8,7 D)7,8
(iiii) ®rar Sfta xo &R &7 fofir fRuiRor yefia wwar 27
(@1) AT (@) BeTHRE! @) el () fess 1
Which organism shows XO type of sex determination.
(A) Human (B) Drosophila
(C) Birds (D) Grasshopper

(iv) ST B 1fvaes FREET H ARgo &R B9 98 §RT Uclsl AHT I el &7
S REESINE] @) EEIREE (9) PRPITER (]) BRPBISISTRY 1
By which bond Nitrogen base is attached to pentose sugar in the molecular structure of
DNA.
(A) Hydrogen (B) Glycosidic
(C) Phospho-ester (D) Phospho-di-ester

(v) 91 % &1 ST @ UfoRe 6T BT ISR 87
(3) v  (9) orHardl dfRny (W) deR (]) BefUi 1
Which of the following is an example of auto immune disease.
(A) AIDS (B) Rheumatoid arthritis
(C) Cancer (D) Elephantiasis

(Vi) DI IAT IRABTHASG T B IQTER0T 27
(31) FHRI S @ 3" @) DWW () CEHES 1
Which disease is an example of non-contagious disease.
(A) Common cold B) Ringworm
(C) Cancer D) Typhoid

(vii) fr 1 % & BRI fm I @) Ul 7 9RY fhee ufoReEd 27
@ IREH AER @) AIfBT () Bedror AT () Ay 1

Which of the following variety of wheat is leaf and stripe rust resistant.
A) Sharbati Sonar (B) Sonalika
(C) Kalyan Sona (D) Himgiri
(viii) ST @uel &1 S H SYART fHAT SH a1l Yrollgq $IFT &7
(1) ST @IS (@) SO dfei RS

(|) SIUU gelldol (]) wfdee UwirsH 1
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Which enzyme is used to join DNA fragments.

(A) DNA ligase (B) DNA polymerase

(C) DNA helicase (D) Restriction endonuclease

(ix) 9 wur #§ o fd I #1E SiF S99 87 1

(31) w13 1 Ac & TS |1 Ab @) P 1 Ac & BTS | Ab
() ®1E 1l Ac & P1S | Ab @) w18 1l Ac & T8 |l Ab

The cry genes incorporated in Bt cotton are-
(A) Cry Il Ac & Cry Il Ab (B)Cry l Ac&Cry | Ab
(C©)CryllAc&Cry | Ab (D) Cry 1 Ac & Cry 1l Ab

yei—2 R w6 gfd afeg |
(i) a6 HaRM gRT ORI &I FET § UGl B Ioq~ B @l fafer ... FHEARN B 1

The method of producing thousands of plants through tissue culture is called------- .

The Total of number of biodiversity hotspot in the world---------------
(iii) 7r7g ST & 9gd 9 WIT &7 AT gRT BT © |
----------------------- make up very large portion of the human genome.
(iv) sl UIvd Th & WeR e B o ¥ Rerd 814 2|

Sedimentary nutrient cycle reservoir is located in Earth’s -------------------

Y33 f T 99l & SR TP 9 9 U ufed § |

(i) SEerar &r aR9Ia SIS | 1
Define linkage.

(i) o5 SARTAT ¥ IU UHh I &1 M oIy | 1
Write the name of a disease caused by point mutation.

(i)  wRwem @ gRvmT ke | 1

Write the definition of immunity.

(iv) fauT9] gaa UIey GOR R & oY 91U &7 I 91T 3ffdd Sugad 2, Je
GRIl
Which part of the plant is best suited for making virus free plants, and why.

(V) degd &1 Haed Sl aiR¢Iid HI | 1
Define gel electrophoresis.

(Vi) RS Sig @7 aRaIE @i | 1

Define transgenic animal.

(vii) T Ut IuTed I MY FIT FHSK o7 1
What do you understand by net primary productivity.

(Viii) ITEERU 9 WRAT GRET B UHh IQTERVl folldy | 1
Write one example of ex-situ and in-situ conservation.
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SECTION-B

oY ST Ue (SR ¥Teq AT 50 ¥1e)
4. 970 UG BT FA UM 8 WAl o drell o9 Al & am fafag | 1.5

Write the name of any three methods to assist infertile couples to have children.

5. A FATRA I & YD H A F 9 & ol U ST drel dIF SUR Gy | 1.5
Suggest three measures one has to take to prevent from contracting sexually transmitted
diseases.

6. PBIAD HDHRUT BT ISTENVT Afed IRHIINT BT | 15

Define somatic hybridization with example.

7. Ul HIRIGT YIS A T FT AT 8, STERV §RT WK HINY | 1.5
What do you understand by single cell protein, explain with example.

8. UG &1 Ig9a FT 87 15
What is origin of replication.
9. IHAIRTTER A MY FIT FHIT 8° 15

What do you understand by bioreactor.

10. TG FUART BAAl & IATGH & Dls A o™ ofRag | 15
Write any three advantages of production of genetically modified crops.
11. AT AT & T HB SRl §RT ST B KT &, I§ I o JHAM ol T8l
ugard 27 15

Crystal of BT toxin produced by some bacteria, why these crystal do not kill the bacteria
Themselves.

12. YT IATGHAT Bl IRITRT BT | 15

Define primary productivity.

13. Sedqal g g uRRefadT fokfae # o forlay | 15

Write deference between upright and inverted ecological pyramid.

14, 99 fafderar & ) oMaeyd Tchl & A fIRay | 15

Write the name of all important components of bio diversity.

15. IRGS & ®rT & forg Sia fafdear a=af Suarh 87 1.5Why

is bio diversity important for functioning of ecosystem.
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SECTION-C
TSI U (SR o8 HHT 100 91<5)
16. a18d A= @1 uRwreT fIRay | gme STF9 Ud Yoiqwdd & dra a1 3R foffy |
1+2=3
Write the definition of external fertilization. Write the two differences between gametogenesis
and embryogenesis.
3ferar/ OR
e @1 aRwmer foRay | ereifire 9 <iffes o9 @ 9= <1 oR forRag | 1+2=3
Write the definition of fertilization. Write the two differences between asexual and
Sexual reproduction.
17. T_ RigH ORI IR &1 SR qAT a1 F&q07 forikey | 1+2=3
Write the reason and two symptoms of Down's syndrome chromosomal disorder.
3ferdr / OR
TR RAgM ORER f[ABR BT BROT o7 &1 deror forRay | 1+2=3

Write the reason and two symptoms of turner’s syndrome chromosomal disorder.

18. STel—dTfed Yo INT BT A foIRay ToOm $HdT JAHA™ & foTv 31T a1 SUT =TI ?
1+2=3
Write the name of a water borne diseases and what measure would you take to prevent it.
3erEr / OR
TARAT INT STd BT AW fIRay T @] AGA & oIy MY T U AT ?
1+2=3
Write the name of malaria pathogen and what measure would you take to prevent it.

Yus—q
SECTION-D
fAeeTee U (SR wss AT 100 IT)
19. e a1 2?2 I PEl IR 9 A~ BT 27 US FNfaa yor o (gl @t
amifed form 9978y | 1+1+2=4
What is triple fusion? Where and how does it takes place? Draw a labelled diagram of a

fertilized embryo sac.
31dr / OR

TP Hd Bl AMRY Bl I P 87 G BT DIAAT AN Bl Bl ol BT 2° A &
AT Bl BT AHIfhd s 918 | 1+1+2=4

Why is an apple called a false fruit? Which part (s) of the flower forms the fruit? Draw a
diagram of false fruit of apple
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20. SITAY BT GRAINT P | fggsall ST B ARaT &1 Ry forlay | fgapse
SITAY B GREAT BT AT s a8 | 1+1+2=4
Define DNA. Write the features of the double helix structure of DNA. Draw a labelled
diagram of DNA double helix

31041 / OR
SITAY fEAl & YD DI URATT BIFTY | wUidRd RIgTT & Siig RIS &0l
foReRy | fderard™® &1 i o a8 | 1+1+2=4

Define the packaging of DNA helix. Write the biochemical characterization of
transforming principal. Draw a labelled diagram of nucleosome?
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